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1. (15 points) Suppose John and Davis have decided to allocate $1,000 per year on
liquid refreshment in the form of alcoholic or nenalcoholic drinks. John and Davis
differ substantially in their preferences for these two forms of refreshment. John
prefers alcoholic to nonalcoholic drinks, while Davis prefers the nonalcoholic -
option.

a. Draw a set of indifference curves for John and a second set for Davis.

b. Discuss why the two sets of curves are different from each other using the
concept of marginal rate of substitution,

¢. If both Davis and John pay the same prices for their refreshments, will their
marginal rates of substitution of alcoholic for nonalcoholic drinks be the same or
different? Explain.

2. (15 'poin'l,s) Suppose that Anna’s utility function is given by u(y)=y"*, where y
represents annual income in thousands of dollars. |

a. Is Anna risk loving, risk neutral, or risk averse? Explain.

b. Suppose that Anna is currently earning an income of $16,000 (y = 16) and can
earn that income next year with certainty, She is offered a chance to take a new
job that offers a 0.5 probability of earning $36,000, and a 0.5 probability of
earning $9,000. Should she take the new joh?

c. In (b), would Anna be willing to buy insurance to protect against the variable
income associated with the new job? If so, how much would she be willing to
pay for that insurance? (Hint: What is the risk premium?)

3. (20 points) A profit-maximizing monopolist is deciding how to charge price for two
markets. The two markets are separated geographically (East Coast and Midwest).
Demand and marginal revenue for the two markets are:

P=15-0Q, MR =15-2Q,
| P, =25-20, MR, =25-4Q,
The monopolist’s total cost is C = 5 + 3(Q; + Q,). What is price for each market
a. if the monopolist can price discriminate?
b. if the law prohibits charging different prices in the two regions?
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would include:

a. acredit to inventory

b. adebit to sales discounts

c. acredit to purchase discounts
d. acredit to cost of goods sold

the following statements is true?

stock dividend?
a. $3,200
b. $6,400
c. $4,800
d. $8,800

a. periodic
b, LIFO
c. FIFO
d. average

a. Total assets will be understated at the end of the current year.

b. The balance sheet and income statement will be misstated but the statement of owner's
- equity will be correct for the current year,

c. Netincome will be overstated for the current year.
d. Total liabilities and total assets will be understated.

5. Balance sheet and income statement data indicate the following:
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3. A company with 100,000 authorized shares of $4 par common stock issued 40,000 shares at $8.
Subsequently, the company declared a 2% stock dividend on a date when the market price was $11 a share.
What is the amount transferred from the retained earnings account to paid-in capital accounts as a result of the
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1.In a periodic inventory system, the entry to record a cash discount taken for ca.rly payment of merchandise

2. At the end of the fiscal year, the usual adjusting entry for depreciation on equipment was omitted. Which of

4.1f merchandise inventory is being valued at cost and the price level is steadily rising, the method of costing
that will yield the highest net income is

Bonds payable, 8% (issued 1990, due 2015) $1,200,000
Preferred 8% stock, $100 par

(no change during the year) - 200,000
Common stock, $50 par

(no change during the year) 1,000,000
Income before income tax for year 320,000
Income tax for year 80,000
Common dividends paid 60,000
Preferred dividends paid 16,000
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Based on the data presented above, what is the number of times bond interest charges were earned (round to i
two decimal places)? St
a. 567 b, 433 c. 3.24 d. 3.50 ik
e
6. A fixed asset with a cost of $40,000 and accumulated depreciation of $35,000 is traded for a similar asset ‘;\
priced at $50,000. Assuming a trade-in allowance of $3,000, the cost basis of the new asset is o
a. $55,000 b.  $48,000 c. $52,000 d. $50,000 ‘gl
7. The balance sheets at the end of each of the first two years of operations indicate the following: g
2006 2005 o
Total current assets $600,000 $560,000
Total investments . 60,000 40,000
Total property, plant, and equipment 900,000 700,000
Total current liabilities 150,000 80,000
Total long-term liabilities 350,000 250,000
Preferred 9% stock, $100 par 100,000 100,000
~ Common stock, $10 par ' 600,000 600,000
Paid-in capital in excess of par-common stock 60,000 60,000
Retained earnings 325,000 210,000

If net income is $115,000 and interest expense is $30,000 for 2006 what is the rate earned on total assets for
2006 (round percent to one decimal point)?

a. 93% b. 10.1% c. 8.0% d 74%

8. A and B are partners who share income in the ratio of 1:2 and have capital balances of $40,000 and $70,000 at
the time they decide to terminate the partnership.  After all noncash assets are sold and all liabilities are paid,
there is a cash balance of $80,000. What amount of loss on realization should be allocated to A?

a. $80,000 b.  $10,000 c. $20,000 d. $30,000

9. The matching concept
a. addresses the relationship between the journal and the balance sheet
b. determines whether the normal balance of an account is a debit or credit -
c. requires that the dollar amount of debits equal the dollar amount of credits on a trial

balance
d. determines that expenses related to revenue be reported at the same time the revenue is
reported
10. Based on the following data, what is the acid-test ratj 0, rounded to one decimal point?
Accounts payable $ 30,000
Accounts receivable 60,000
Accrued liabilities 5,000
Cash 30,000
Intangible assets 50,000
Inventory 69,000
Long-term investments 80,000
Long-term liabilities 100,000
Marketable securities 30,000
Fixed assets 670,000
Prepaid expenses 1,000
a. 34 b. 3.0 c. 2.2 d. 1.8
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1. A company using the periodic inventory system has the following account balances: Merchandise o
Inventory at the beginning of the year, $4,000; Transportation-In, $450; Purchases, $12,000; Purchases "
Returns and Allowances, $2,300; Purchases Discounts, $220. The cost of merchandise purchased is equal to ff_‘}_
a. $13,930 L i
b. $9,930 : ";
c. $9,489 e
d. $14520 | &
_ L
12. A 90-day, 12% note for $20,000, dated April 10, is received from a customer on account. " If the note is ?:E.
discounted at 15% on May 10, the due date is
a. July9
b. July 10
c. July Il
d. July8
13. A miachine with a cost of $65,000 has an estimated residual value of $5,000 and an estimated life of 4

years or 18,000 hours. What is the amount of depreciation for the second full year, using the
declining-balance method at double the straight-line rate?

a. $15,000
b. $30,000
c. $16,250
d. $32,500

14.  Given the following information:
Merchandise Inventory, Jan. 1 15,800
Merchandise Inventory, Dec. 31 17,600
Purchases 82,500
Purchase discounts : _ 1,200
Purchase returns ' \ 1,800
Sales , 115,800
Sales discounts : : 2,300
Sales returns 1,500
Transportation In 3,200
Compute the cost of goods sold.
a. 82,700
b. 98,500
c. 80,900
d. 79,500

15.  Inrecording the cost of merchandise sold for cash, based on data available from perpetual inventory

records, the journal entry is

debit Cost of Merchandise Sold; credit Sales

debit Cost of Merchandise Sold; credit Merchandise Inventory
debit Merchandise Inventory; credit Cost of Merchandise Sold
debit Accounts Receivable; credit Merchandise Inventory
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1.(15%) The comparative balance sheet of Max Company, for 2006 and the preceding year ended December 31, 2005
appears below in condensed form:

Year Year .

2006 2005 /|

Cash $ 45,000 $ 53,500 |

Accounts receivable (net) 51,300 58,000 |48

Inventories 147,200 135000 7 -
Investments 0 60,000
Equipment 493,000 375,000
Accumulated depreciation-equipment (113,700) 128.000)
$622.800  $553,500
Accounts payable $ 61,500 $ 42,600
Bonds payable, due 2012 - 100,000
Common stock, $10 par 250,000 200,000

Paid-in capital in excess of par--

common stock 75,000 50,000
Retained earnings 236,300 160,900

$622.800  $553,500

The income statement for the current year is as follows:

Sales $623,000
Cost of merchandise sold 348,500
Gross profit $274,500
Operating expenses:

Depreciation expense $24,700

Other operating expenses 75,300 100,000
Income from operations $174,500
Other income:

Gain on sale of investment $ 5,000
Other expense:

Interest expense 12,000 (7.000)
Income before income tax $167,500
Income tax ' 64,100
Net income $103.400

Additional data for the current year are as follows:

(a) Fully depreciated equipment costing $39,000 was scrapped, no salvage, and equipment was
purchased for $157,000.

(b) Bonds payable for $100,000 were retired by payment at their face amount.

(c) 3,000 shares of common stock were issued at 15 for cash.

(d) Cash dividends declared were paid $28,000.

(e) All sales are on account,

Prepare a statement of cash flows, using the direct method of reporting cash flows from operating activities.
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2.(15%) From the following data for Noll Company for the current fiscal year ended December 31, prepare a

3.(10%)

4.(15%)

multiple-step income statement. Show parenthetically earnings per share for the following: income from

continuing operations, loss on discontinued operations (less applicable income tax), income before
extraordinary item, extraordinary item (less applicable income tax), and net income.

Common stock, $50 par $200,000
Cost of merchandise sold 252,000
Administrative expenses 48,250
Income tax (applicable to continuing operations) 142,000
Interest expense 3,750
Loss on discontinued operations,

net of applicable tax of $2,700 5,400
Sales 775,000
Selling expenses 83,000
Uninsured flood loss, net of applicable

income tax of $4,500 14,000

Present entries to record the following selected transactions completed during the current fiscal year;

Feb. 1 The board of directors reduced the par of common shares from $100 to $20. This
action increased the number of outstanding shares to 500,000.

11 Purchased 25,000 shares of own stock at $45, recording the treasury stock at cost.

May 1 Declared a dividend of $3 per share on the outstanding shares of common stock,

15  Paid the dividend declared on May 1.

Oct. 19 Declared a 2% stock dividend on the common stock outstanding (the fair market value
of the stock to be issued is $55). '

Nov. 12 Issued the certificates for the common stock dividend declared on October 19,

From the following data, determine for the current year the (a) rate earned on total assets, (b) rate earned on
stockholders' equity, (c) rate earned on common stockholders' equity, (d) earnings per share on common stock,
{e) price-earnings ratio on common stock, and (f) dividend yield on common stock. Assume that the current

market price per share of common stock is $27. (Present key figures used in your computations.)
Current Preceding

Year Year
Current assets $ 735,000 $ 820,000
Property, plant, and equipment 1,500,000 1,400,000
Current liabilities
(non-interest-bearing) 150,000 140,000
Long-term liabilities, 12% 400,000 400,000
Preferred 10% stock 250,000 250,000
Common stock, $25 par 1,200,000 1,200,000
Retained earnings:
Beginning of year 230,000 160,000
Net income for year ' 85,000 155,000
Preferred dividends declared (25,000) (25,000)
Common dividends declared (60,000) (60,000}
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1. y= a
T+x
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1. 1+x
2. ]n(l+x)
3. sin(x)
(15 )
W~ WRFHHL
1 I= ! +———~!——-—; dx
x—a (xua)
D A Ct), dx
243x* =5x+6
3. I=[xetdr
17 5
4 I= dex
5 cos x+1
% _
5. I= I\/xsinxdx
[
(35 )
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